
Method of Undetermined Coefficients 
Math 285, Spring 2012 
 
Instructions: For each set of solutions and forcing term, find the Ansatz you would use in the method of undetermined 
coefficients. 
 

# y1 y2 g(t) Ansatz 

1 2te  3te  sin(t) 𝐴𝑐𝑜𝑠(𝑡) + 𝐵 sin (𝑡) 

2 te−  2te  te  𝐴𝑒𝑡 
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Requires variation of parameters 

4 te−  tte−  te−  𝐴𝑡2𝑒𝑡 

5 2 sin 4te t−  2 cos4te t−  2te−  𝐴𝑒−2𝑡 

6 sinte t  coste t  cos t  𝐴𝑐𝑜𝑠(𝑡) + 𝐵 sin (𝑡) 

7 sinte t−  coste t−  cos2te t−  𝐴𝑒−𝑡 cos(2𝑡) + 𝐸𝑒−𝑡sin (2𝑡) 
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9 t t2 t 𝐴𝑡3 

10 sin(t) cos(t) csc(t) Requires variation of parameters 

11 sin(2t) cos(2t) cos(2t) 𝐴𝑡 𝑐𝑜𝑠(2𝑡) + 𝐵𝑡 sin (2𝑡) 

12 2te  3te  2sin tt e+  𝐴𝑐𝑜𝑠(𝑡) + 𝐵 sin(𝑡) +  𝐶𝑒2𝑡 

13 te−  2te  
4 sin 3tt e t−+  

𝐴𝑡4 + 𝐵𝑡3 + 𝐶𝑡2 + 𝐷𝑡 + 𝐸 + 𝐹𝑒−𝑡 cos(√3𝑡)

+ 𝐺𝑒−𝑡sin (√3𝑡) 

14 sinte t  coste t  4tte +  (𝐴𝑡 + 𝐵)𝑒𝑡 + 𝐶 

15 sinte t  coste t  sintt e t+  𝐴𝑡 + 𝐵 +  𝐶𝑡𝑒𝑡 cos(𝑡) + 𝐷𝑡𝑒𝑡sin (𝑡) 

16 2 sin 4te t−  2 cos4te t−  2 2cos4 sin 4t te t e t− −+ +  
𝐴𝑐𝑜𝑠(4𝑡) + 𝐵 sin(4𝑡) +  𝐶𝑒−2𝑡 + 𝐷𝑒−2𝑡 cos(4𝑡)

+ 𝐸𝑒−2𝑡sin (4𝑡) 

17 te−  
2te  cosh t  

𝐴𝑒𝑡 + 𝐵𝑡𝑒−𝑡 OR 

 (𝐴𝑡 + 𝐵) cosh(𝑡) + (𝐶𝑡 + 𝐷)sinh (𝑡) 

 


